
 

10/5/2017    www.lankota.com  |  Lankota Inc. Page | 1 John Deere and JD are registered trademarks of Deere & Company. 

Lankota is a registered trademark of Lankota Group. 

LAN1331SF 

Installation Instructions 
Lankota Shark Fin Kit for JD® 6XX Series Flex Draper Heads 

 

270 West Park Avenue 

Huron, SD  57350 

866-526-5682 



 

10/5/2017    www.lankota.com  |  Lankota Inc. Page | 2 John Deere and JD are registered trademarks of Deere & Company. 

Lankota is a registered trademark of Lankota Group. 

Numerical Parts List 

Part Numbers Description Qty 

LAN1331SF-W Flex Draper Shark Fin 1 

LANFB305 3/8”-16 x 1.25” Hex Bolt 2 

LAN1618000 3/8” Nyloc Nut 2 

LAN18000 3/8” Flat Washer 4 

Preparation 

1. Attach desired header to the combine.  Lock the head to the combine. 

2. Raise the head off the ground and lower the safety stop on the feeder house cylinder. 

3. Raise the reel all the way up. 

4. Set the parking brake on the combine. 

5. Turn off the combine engine and remove the key. 



 

10/5/2017    www.lankota.com  |  Lankota Inc. Page | 3 John Deere and JD are registered trademarks of Deere & Company. 

Lankota is a registered trademark of Lankota Group. 

Pictorial Parts List 

LAN1331SF-W (1) LANFB305 (2) LAN1618000 (2) LAN18000 (4) 

For further technical assistance, 

Call Lankota Inc. at: 

1-866-526-5682 



 

10/5/2017    www.lankota.com  |  Lankota Inc. Page | 4 John Deere and JD are registered trademarks of Deere & Company. 

Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Figure 1 

Refer to Figures 1 & 2 

1. Find the center of the center canvas and mark. Place the shark fin in 
front of the canvas at this mark up against the rock guard as shown. 

2. Center punch the holes, remove the shark fin and drill out the holes 
with a 3/8” drill bit. 

Figure 2 



 

10/5/2017    www.lankota.com  |  Lankota Inc. Page | 5 John Deere and JD are registered trademarks of Deere & Company. 

Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Figure 3 

Refer to Figures 3 & 4 

3. Remove the skid plate(s) below the newly drilled holes. 

Figure 4 



 

10/5/2017    www.lankota.com  |  Lankota Inc. Page | 6 John Deere and JD are registered trademarks of Deere & Company. 

Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Figure 5 

Refer to Figure 5 & 6 

4. Fasten the fin to the head with the supplied 3/8” bolts, washer 
and nyloc nuts. Tighten. 

Figure 6 



 

10/5/2017    www.lankota.com  |  Lankota Inc. Page | 7 John Deere and JD are registered trademarks of Deere & Company. 

Lankota is a registered trademark of Lankota Group. 



 

10/5/2017    www.lankota.com  |  Lankota Inc. Page | 8 John Deere and JD are registered trademarks of Deere & Company. 

Lankota is a registered trademark of Lankota Group. 

The Lankota Shark Fin also works well with 

the Bean Saver Brush Kit. 


